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:\/\/hatdolneedtobeable
| to do?

Congruent: The same

By the. end of this unit you should be. able to:
Recal area of basic AD shapes

Pi (7r): The ratio of a circle

tt is important to round your answer suitably — to significant figures or
decimal places. This will give. you a decimal solution that wil go on forevert

QOrea: Space. inside a 2D object
Perimeter: Length around the. outside of a AD object
s circumference to its diameter

HEOMETRY. ..

Orea of trapezia and Circles

I
I
I
|+ Fndthe areaof a rapezum Perpendicular: Ot an ange. of 90° to a gven surface
| ¢ Findthe area of acircl Eormut O\ mathematioal elationshiny 10 cE - ¢ octonc/
|+ Find the ares of compound shapes omula: O mathematical relationship/ U given in symbok Eg b x h = area of rectange/ square
|« Find the perimeter of compound shapes Infinty (0): O number without a given ending (too gredt to count to the end of the number) — never ends
I Sector: O part of the circle enclosed by two radii and an arc
e e e ol e e |
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| Orea — rectangkes, triangkes, paraleograms @ :
| Rectange Paralelogsam/ Rrombus . Trarck O triandke is hatf the size of the |
| . 1 9 | rectangle it would fit in
| Bose x Height | Base X Perpendicubar height : % X Base x Perpendculr height e 9 :
| : ;
| l |
- ____ |
—_————— _ ________________ mr-r—-—--——-—-——-—-—-—-—-—_——-—_——-—_-—_-———————
: Orea of a trapeziom b I Compound shapes :
I Orea of a trapeziom /+ N |: To find the area compound shapes often need spltting into more. manageable. shapes first I
I (a+b)xh :l Identify the shapes and missing sides efc. first |
I 2 a I I 5cm I
I Why * Two congruent trapezioms I em? Shape K - soscekes I
I make a paralelogram :I 4em? L ! /: L trapezim |
: / h\ / « New length (g + b) x heigt [l ! i rem :
« Dudeby2tofrdaeact Il sem! j12cm ' !
! @ b one Il ‘ ! Sem | }‘%/m Shape B- nonstandard I
\ o ____ 1l ; \ ¢ Hgem trapezm :
r-—-—--——-—--—--—-—-—--—-"—--—-"\—"\—"—"—"—"—— il e i
. 7cm P ———

| Oreat of a circle (Non-Cakuiator) J H e is
: Read the question — leave in Orea of g circle : | (85ha+p;)|1 ;Shap:; ° =(;o’fags)a;e? - 24 + 45,5 = 69, 5o / :
I terms of 7 or f 7T =3 (provides | 7T X radis? ﬁ | | B T ’ ) I
| an estimate. for answers) | I_ ______________________ a
: Diameter = fm : I Compound shapes including circles |

- Radis - 4 ! !
| - KOS = Cm ) Compound shapes are ot alwaus dreai questions |
| Radis = 4em | Croumfererce <— For Perimeter you wil need to use the |
| / |y | 7 X diameter
| X radus? Find the. area of ﬁ dem | : circumference :

- 2
| -mx4 one quarter of the | Spotting dameters and radi I
| =mx o circle Circk Orea = lorr cm® 1 |
L= 67 cm? Quarter= 41 cm? : : ( s . :
_______________________ n
T U S 1 TR T T N
: Oreai of g circe (Calculato r) | : I:lcslei\mem\on is ako the digmeter of the semi :
- I
| '% | Don't need to hae. thi becase.th |
SH IFT | - onl need (o nave this ause tnere

| Orea of a circk I | Orc kngths _ﬂ x b4 are. 2 ends which make. the. whole |
I — 7T X radiss? ﬁ | I btm circle |
| i Oo, |
I How to get 7T symbol on the I |
I cabulator : | Orc lengths + Straight kengths = tolal permeter |
| | |
| 1 |
| | I |
| | | |
| I |
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. ;52; Gion m5 0 Stil remember to spit up the

0k -5011m compound shape into smaler more
= manageable. individual shapes first




